

NORBURY FEES APRIL 2024

NURSERY OPENING HOURS: 7.30am to 6.30pm

FEES WITHOUT GOVERNMENT FUNDING

Children aged 6 months to 3 years	Daily Rate	Weekly	Monthly
5 days a week	£81.00	£405.00	£1755.00
4 days a week	£84.00	£336.00	£1456.00
3 days a week	£91.00	£273.00	£1183.00
2 days a week	£96.00	£192.00	£832.00

Pre-school Children (3+ years)	Daily Rate	Weekly	Monthly
5 days a week	£76.00	£380.00	£1646.67
4 days a week	£79.00	£316.00	£1369.33
3 days a week	£86.00	£258.00	£1118.00
2 days a week	£91.00	£182.00	£788.67

FUNDING FOR CHILDREN AGED 2 YEARS AND CHILDREN AGED 9 MONTHS (15 hours per week for 38 weeks)

From 1 April 2024, children aged 2 years will be entitled to government funding.

From 1 September 2024, children aged 9 months will be entitled to government funding.

The funding is available from the start of the term after a child turns 2 years, and (from 1 September), from the start of the term after a child turns 9 months. The term dates are 1 January, 1 April and 1 September.

The funding is given to the nursery for 38 weeks of the year (term-time only). We stretch the 570 hours of funding over the whole of the year and this gives you one free day a week.

A minimum of **two days** attendance is required for this funding.

We do not offer funded-only places.

Children aged 2-years and children aged 9 months	Daily Rate	Weekly	Monthly
5 days a week (funding pays for one day; parents pay for four days)	£86.00	£344.00	£1490.67
4 days a week (funding pays for one day; parents pay for three days)	£89.00	£267.00	£1157.00
3 days a week (funding pays for one day; parents pay for two days)	£96.00	£192.00	£832.00
2 days a week (funding pays for one day; parents pay for one day)	£110.00	£110.00	£476.67

FUNDING FOR CHILDREN AGED THREE YEARS AND FOUR YEARS (15 hours per week for 38 weeks of the year)

Children aged three and four are entitled to government funding from the start of the term after their third birthday. The term dates are 1 January, 1 April and 1 September.

The government pays 15 hours for 38 weeks of the year (term-time only) and this equates to 570 hours per year. This gives you one free day each week at Purple Panda.

A minimum of **two days** attendance is required for this funding.

We do not offer funded-only places.

Pre-school children (3+ years)	Daily Rate	Weekly	Monthly
5 days a week (funding pays for one day; parents pay for four days)	£81.00	£324.00	£1404.00
4 days a week (funding pays for one day; parents pay for three days)	£84.00	£252.00	£1092.00
3 days a week (funding pays for one day; parents pay for two days)	£93.00	£186.00	£806.00
2 days a week (funding pays for one day; parents pay for one day)	£117.00	£117.00	£507.00

FUNDING FOR CHILDREN AGED THREE YEARS AND FOUR YEARS (30 hours per week for 38 weeks of the year)

Some Pre-schoolers are entitled to 30 hours funding from the start of the term following their third birthday. The funding is given to the nursery for 38 weeks of the year (term-time only).

We stretch the 570 hours of funding over the whole of the year and this gives you two free days a week at Purple Panda.

A minimum of **three days** attendance is required for this funding.

We do not offer funded-only places.

Pre-school Children (3+ years)	Daily Rate	Weekly	Monthly
5 days a week (funding pays for two days; parents pay for three days)	£88.00	£264.00	£1144.00
4 days a week (funding pays for two days; parents pay for two days)	£103.00	£206.00	£892.67
3 days a week (funding pays for two days; parents pay for one day)	£132.00	£132.00	£572.00

ADDITIONAL DAYS

Additional Days	£108.00	For both age groups
-----------------	---------	---------------------

LATE FEES

The following fees may be charged for persistent late collection:

First 15 minutes	(or part thereof):	£45.00
Up to 30 minutes	(or part thereof):	£45.00
Up to 45 minutes	(or part thereof):	£55.00
Up to 1 hour	(or part thereof):	£65.00

The Management reserves the right to charge these fees.

Any absences, including holidays, sickness, adverse weather, Bank Holiday and Christmas closure, are charged at full rate.

Fees are reviewed annually.

TERMS AND CONDITIONS

Children must attend for a minimum of two full days each week or a minimum of three full days each week if 30 hours funding is being claimed.

We do not offer half days or sessional care.

We do not offer day swaps.

You must give one month's notice if you wish to reduce or change your days. Increasing or changing days is subject to availability.

There is a non-refundable administration fee of £90.00, as well as a deposit of £380.00 to secure a place at the nursery. The deposit is taken off the final bill when your child leaves the nursery.

The nursery is open 51 weeks of the year. We close over Christmas, New Year and Bank holidays. We also close for three inset days per year.

All fees must be paid in advance on or by the first day of the month. The management reserves the right to withdraw places for persistent late payments.

A 5% sibling discount given on the fees of the eldest child.

PURPLE PANDA NURSERIES 29 FEBRUARY 2024